

(A Statutory Corporation of Govt. of West Bengal)

Memo No.1122-.MDC/OB-06

Dated:27.02.2024

Notice Inviting e-Tender No. S&P Amber -1 of 2023-24

Managing Director, WBMDFC invites e-tender for the work as detailed in the following table.

In the event of e-filing, intending tenderer may download the tender documents from the site: http//wbtenders.gov.in directly with the help of Digital Signature Certificate & earnest money in favour of WBMDFC to be documented through e-filing.

Earnest money:

An earnest money to the tune of Rs.9,000.00(Rupees nine thousand) only will have to be deposited by each & every tenderer in favour of machine generated Relevant Account no.in the form of RTGS/NEFT as per Govt. Order (other than those who are exempted as per rule).

Refund of EMD: The Earnest money of all the unsuccessful Tenderers will be refunded as per online system as per Govt. Order vide order No: 3975 - F(Y) Dated 28^{th} july, 2016 of Secretary, Finance department, Govt.of West Bengal whereas for successful bidder EMD will be converted in to Security deposit.

Repairing work of sanitary plumbing from ground floor to 7th floor toilet the H/Q office building of WBMDFC at Salt lake, Sector-1 Kol-64 .4,10,179.00To be completed by 10days of the work. i.e Rs.9,000/-Intending tender shall cost of tender purpose of participating in e- tendering.To be completed by 10days from the day of issue of work	Name of the work	Est. Value put to tender (Rs.)	Earnest Money (Rs.)	Price of Technical, Financial Bid Documents, & other Annexure (Rs)	Time of Completion
	plumbing from ground floor to 7 th floor toilet the H/Q office building of WBMDFC	4,10,179.00	of the estimated value of the work. i.e	not have to pay the cost of tender documents for the purpose of participating in e-	completed by 10days from the day of issue of work

Managing Director

(1)



(A Statutory Corporation of Govt. of West Bengal)

Eligibility Criteria of the Contractor:-

- i) The intending bidders should produce credentials of similar nature of completed work of the minimum value of 40% of the estimated amount put to tender during 5 (Five) years prior to the date of issue of the tender notice.
- ii) Payment certificate will not be treated as credential;
- iii) Certificate issued by the Executive Engineer, or equivalent or competent authority of a State/ Central Government undertaking, Statutory/ Autonomous bodies constituted under Central/ State statute, on the executed value of completed/ running work will be taken as credential.
- iv) The prospective bidders shall have in their full time engagement experienced technical personnel.
- v) Pan Card, Professional Tax Receipts Challan for thelast year, Trade License, GST registration Certificate to be accompanied with the Technical Bid document. Income Tax (Saral) Acknowledgement Receipt for assessment last year to be submitted.
- vi) Registered or Notarized Deed of partnership Firm/ Article of Association & Memorandum.
- vii) If any contractor is exempted from payment of EMD, copy of relevant Government order needs to be furnished.
- viii) Where an individual person holds a digital certificate in his own name duly issued to him against the company or the firm of which he happens to be a director or partner (even Managing Director), such individual person shall, while uploading any tender for and on behalf of such company or firm, invariably upload a separate copy of registeredpower of attorney (notarized not to be allowed) showing clear authorization in his favour, by the rest of the directors of such company or the partners of such firm, to upload such tender. The power of attorney shall have to be registered in accordance with the provision of the Registration Act, 1908.
- ix) No CONDITIONAL/ INCOMPLETE TENDER will be accepted under any circumstances.
- x) List of "Technically Qualified Bidders" will be published in the web portal only.
- xi) Financial Bid will be opened after 48 hours of publication of Technical Bid.
- xii) If any discrepancy arises between two similar clauses on different notifications, the clause as stated In later notification will supersede former one.
- xiii) The intending bidder or subcontractor or authorized representative duly authorized by the bidder,.
 Supporting documents should be uploaded with his tender regarding particulars of the license with validity period held by
 the bidders or sub-contractors or representative duly authorized by the bidder.
- xiv) Plant Machineries and equipments should be owned or arranged through hold agreement by the bidders.
- xv) The Bidder, at the Bidder's own responsibility and risk is encouraged to visit and examine the site of works and its Surroundings and obtain all information that may be necessary for preparing the Bid and entering into a contract for the work as mentioned in the Notice inviting Tender, the cost of visiting the site shall be at the Bidder's own expense.

Managing Director

(2)



(A Statutory Corporation of Govt. of West Bengal)

xvi) The rate of tender is to be submitted with duly digitally signed in the https://wbtenders.gov.in within date and time as stipulated in e-tender.

The bid shall remain valid for a period not less than 45days (forty five days) from the last date of submission of financial bid/sealed bid. If the bidder withdraws the bid during this period of bid validity, his earnest money deposit will be forfeited.

If any tenderer withdraws his offer before acceptance, without giving any satisfactory explanation for such withdrawals, he may be disqualified from participating in any future NIET / NIEQ of this office for a minimum period of 1(one) year and suitable action, as deemed fit, will be taken by the Tender inviting authority.

If the last date falls on holidays or on bundh day or on natural calamity, the date shall automatically defer to the next working day.

The accepting authority of WBMDFC reserves the right to reject any or all the tender without assigning any reason whatsoever and he will not be bound to accept either the lowest tender or any of the tender.

Successful tenderer will have to produce original GST Registration, and PAN Card I.T return etc. (as applicable) for verification prior to issuance of Work Order.

Managing Director

(3)



(A Statutory Corporation of Govt. of West Bengal)

Intending Bidders should be uploaded documents as per following:

- a) NIeT
- b) Form-I and Form-II (enclosed with this NIeT) on companies letter head must properly filled
- up, scanned and up- loaded.
- c) Submission ofdocuments regarding EMD.

SI No	Category Name	Sub Category Description	Details
А.	CERTIFICATES	CERTIFICATES	1. GST REGISTRATION CERTIFICATE 2. PAN 3. P TAX (CHALLAN) (2023-24) 4. IT-SARAL for ASSESMENT YEAR, (Last three years)
<i>B</i> .	COMPANY DETAILS	COMPANY DETAILS 1	 PROPRIETORSHIP FIRM {TRADE LICENCE CHALLAN (2023-24)} PARTNERSHIP FIRM {Registered or Notarized Deed of partnership Firm/ Article of Association & Memorandum of company} J. LTD. COMPANY INCORPORATION, CERTIFICATE, TRADE LICENCE CHALLAN(2023-24)). 4. SOCIETY {SOCIETY REGISTRATION COPY, TRADE LICENCE CHALLAN(2023-24) & BYE LAW} 5. REGISTERED POWER OF ATTORNEY of COMPANY or FIRM 6. APPLICATION (FORM-I&FROM-II)
С.	CREDENTIAL	CREDENTIAL1 CREDENTIAL2	SIMILAR NATURE OF WORK DONE & COMPLETION CERTIFICATE WHICH IS APPLICABLE FOR ELIGIBILITY IN THIS TENDER.

Managing Director

(4)



Important information's: DATE AND TIME SCHEDULE: (A Statutory Corporation of Govt. of West Bengal)

Sl. No.	Particulars	Date & Time
1.	Date of uploading of N.I.T. Documents	28.02.2024 at 5.00 P.M
2.	Start of Documents downloading.	28.02.2024 at 5.30 P.M
3.	Start of Bid submission.	28.02.2024 at 5.30 P.M
4.	Last date of Documents downloading	07.03.2024 at 3.00 P.M
5.	Last date of Bid submission.	07.03.2024 at 3.30 P.M
6.	Date of opening of technical Bid.	11.03.2024 at 4.00 P.M
7.	Date of publication of list for technically qualified Bidders.	To be informed letter on.
8.	Date, time and Place for opening of Financial Proposal (Online)	To be informed letter on.

LOCATION OF CRITICAL EVENT.

BID OPENING	At the Office of the Managing Director, West Bengal Minorities' Development & Finance Corporation, "AMBER" DD-27E, Sect-I, Salt Lake City, Kolkata- 700064.
--------------------	--

The intending Tenderer are required to quote their rate **online** in the form of **Above**, **Less** or AT **PAR** with the attached priced schedule.

Contractor shall have to comply with the provisions of (a) the Contract Labour (Regulation Abolition) Act. (b) Apprentice Act. 1961 and (c) Minimum Wages Act, 1948 or the Notification thereof or any other laws relating to and the Rules made there under and order issued there under from time to time.

During scrutiny, if it comes to the notice of the Tender inviting authority that the credentials or any other documents are incorrect/manufactured/fabricated or incomplete in any respect then the Tenderer will be out rightly rejected without any prejudice.

Before issuance of the WORK ORDER, the tender inviting authority may verify the original credential and other documents of the lowest tenderer if found necessary. In case, if it is found that the documents submitted by the lowest tenderer is either manufactured or false; the work order shall automatically stand cancelled and legal action as per prevailing rules shall be taken.

Managing Director

(5)



During evaluation the committee may summon of the tenderers and seek clarification / information or additional documents or original hard copy of any of the documents already submitted and if these are not produced within the stipulated time frame, their proposals will be liable for rejection. *Financial proposal*

The financial proposal should contain the following documents in one cover (folder) i.e. Bill of quantities (BOQ) the contractor is to quote the rate (percentage Above/ Below/ At par) online through computer in the space marked for quoting rate in the BOQ.

Only downloaded copies of the above documents are to be uploaded virus scanned & Digitally Signed by the contractor.

1. Penalty for suppression / distortion of facts

Submission of false document by tenderer is strictly prohibited & if found action may be referred to the appropriate authority for prosecution as per relevant IT Act with forfeiture of earnest money forthwith.

2. **Opening of Financial Bid:**

- 1) Financial proposals will be open by the Managing Director, WBMDFC along with/ or his authorized representative electronically.
- 2) After opening of Financial Bid, if situation demands, Managing Director, WBMDFC may call off-line open Bid among the Qualified Bidders to lower down the rate if required. So all qualified Bidders are requested to remain present in the Chamber of the Managing Director, WBMDFC. On that day at the time of opening the financial bid.

No objection in this respect will be entertained raised by any Bidders who will be present during opening of tender, or from any Bidder who will be absent at the time of opening of tenders.

(6)



West Bengal Minorities' Development & Finance Corporation GENERAL TERMS & CONDITION (A Statutory Corporation of Govt. of West Bengal)

- 1. The contractor will be permitted to work 7 days in a week round the clock subject to approval of Corporation (WBMDFC).
- 2. No idle labour charges will be entertained at any circumstances.
- 3. The contractor shall procure the best available materials as specified in tender schedule confirming to the relevant BIS standard and all materials to be used in work shall duly be approved by the Engineer in-Charge.
- 4. No mobilisation in advance is admissible under this contract.
- 5. Necessary safety and security measure to the workers are to be given by the tenderer at his own cost.
- 6. 3% of the bill amount shall be kept as retention money which will be converted to security deposit.
- 7. All statutory deduction of taxes as applicable as per rule, will be deducted from the agency's bill.
- 8. GST, cess etc. if applicable, shall be deemed to have been included in rates quoted by the tenderer.
- 9. The time allowed for completion of work as mentioned in the tender shall be strictly observed by the contractor and shall be reckoned from the date on which the order to commence work is given to the contractor. The work throughout the stipulated period of the contract be proceeded with all the due diligence (time being deemed to be of the essence of the contact on the part of the contractor) In the event of the contractor failing to commence or finish the work within the due date as per work programme submitted before execution of work, he shall be to liable to pay as compensation an amount equal to the one percent as per estimated value of tender or such smaller amount as fixed by the Corporation for every week delay all the work remains un-commenced or un-finished after the stipulated due date.
- 10. In case the work is deliberately suspended for more than half month due to fault of the agency, his security deposit as constituted or earnest money will be forfeited by the Corporation, and the agency will be black listed from participating in tender/quotation for at least 3 years.
- 11. The Agency will be liable to maintain the work at the appropriate service level to the satisfaction of the Engineer-in Charge at his own cost for the entire security period from the date of completion. If any defect/damage is found during the period as mentioned above, the contractor shall make the same good as per contract otherwise, penal action against the Agency will be imposed by the Corporation as deemed fit. The quantity of various items are approximate and may vary as per site condition and decision of WBMDFC. The agency will have to quote its rate considering the above aspect.
- 12. No price escalation will be allowed during period of work.
- 13. Contractor shall take every precaution to protect against damage breakage or pilferage of any material of Corporation and if such happened that will be borne by the contractor.
- 14. All quantity of the items are approximate/variable. No such claim of the contractor will be entertained if any one item or more than one item is not executed as per site condition or as per decision of the Corporation.
- 15. Excess quantity of work may be carried out subject to approval of the Corporation.

Managing Director

(7)



(A Statutory Corporation of Govt. of West Bengal)

- 16. Any additional item of work if required by the EinC shall be evaluated at the rate set out in the contract and if the contract does not contain any rate applicable for extra or additional work, the suitable price shall be taken from the PWD schedule (WB) as far as practicable. If there is no similar item in PWD schedule of rates, the item rates to be derived as per current market price as per satisfaction of EinC, and the agency has to do such extra/additional work on the determined rate.
- 17. The agency will have to carryout his work in coordination with the work of other agency selected by WBMDFC to complete the work in scheduled time.

Enclose: Form-1 & Form-2 and priced schedule.

Managing Director

Dated:27.02.2024

Memo No.-1122-MDC/OB-06

Copy forwarded for information and circulation to the :

- 1. Director, Directorate of MadrasahEducation, Govt. of West Bengal
- 2. Spl. Commissioner, MA & ME Department, Govt. of West Bengal
- Secretary Urdu Academy
 CEO, Board of Auqaf
- 5. Departmental website

Managing Director

Dated: 27.02.2024

Memo No :-1122-MDC/OB-06

Copy forwarded for kind information to the:

- 1. General Manager (Admn), WBMDFC
- 2. General Manager (Scholarship), WBMDFC
- 3. Chief Accounts Officer, WBMDFC
- 4. Executive Engineer, MA & ME Department, Govt. of West Bengal
- 5. Sr. PS to the PrincipalSecretary, MA & ME Department, Govt. of West Bengal
- 6. PA to the Chairman, WBMDFC

Managing Director

(8)



(A Statutory Corporation of Govt. of West Bengal)

Form-I

(To be furnished on Company's Letter Head)

- 1) I, the under-signed do certify that all the statements made in the attached documents are true and correct. In case of any information submitted proved to be false or concealed, the application may be rejected and no objection/claim will be raised by the under-signed.
- 2) The under-signed also hereby certifies that neither our firm M/S.....nor any of constituent partner had been debarred to participate in any tender/quotations by any Govt. Organization/Undertaking during the last 3 (three) years prior to the date of this N.I.T/N.I.Q.
- 3) The under-singed would authorize and request any Bank, person, Firm or Corporation to furnish pertinent information as deemed necessary and/or as requested by the Corporation /Department to verify this statement.
- 4) The under-signed understands that further qualifying information may be requested and agrees to furnish any such information at the request of the Corporation/Department.
- 5) Certified that I have applied in the tender in the capacity of individual/as a partner of a firm and I have not applied severally for the same job.

Signed by an authorized officer of the firm

Title of the officer

Name of the Firm with Seal

Date:....

Managing Director



(A Statutory Corporation of Govt. of West Bengal)

Form-II

STRUCTURE AND ORGANISATION

1) NameofApplicant	
2) Office Address	:
TelephoneNo.	·
Fax No.	·
3) Name and Address	of Bankers:
	·

Note: Application covers Proprietary Firm, Partnership, Limited Company or Corporation

Signature of applicant including title and capacity in which application is made

seal and Signature of the Quotationer

Managing Director



Percentage BoQ

Tender Inviting Authority: Managing Director, WBMDFC

Name of Work: Repairing work of sanitary plumbing from ground floor to 7th floor toilet the H/Q office building of WBMDFC at Salt lake, Sector-1 Kol-64.

Contract No:S&P Amber -1 of 2023-24.

Name of the Bidder/ Bidding Firm /						
(This BOQ	PRICE S template must not be modified/replaced by the bidder and the same s rejected for this tender. Bidders are allowe			-		bidder is liable to be
NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT With Taxes	TOTAL AMOUNT In Words
1	2	4	5	6	54	55
1	Dismantling E.P. or Anglo-Indian W.C	11	each	53.63	589.93	INR Five Hundred & Eighty Nine and
2	Dismantling Orissa pattern W.C. including taking out of base concrete, if necessary, complete.	5	each	53.63	268.15	INR Two Hundred & Sixty Eight and Paise Fifteen Only
3	Cutting hole through wall, roof or cornice and mending good all damages.	21	each	81.04	1701.84	INR One Thousand Seven Hundred & One and Paise
4	Dismantling flush pipe of water closet.	16	each	20.26	324.16	INR Three Hundred & Twenty Four and
5	Dismantling H.C.I. pipe with fittings including melting lead caulked joints . (i) 50 mm	28	mtr	59.59	1668.52	INR One Thousand Six Hundred & Sixty Eight and Paise Fifty
6	Dismantling H.C.I. pipe with fittings including melting lead caulked joints. (ix) 100 mm	78.2	mtr	76.28	5965.10	INR Five Thousand Nine Hundred & Sixty Five and Paise

Jacques Mondal

2	7	Supplying, fitting and fixing Peet's valve fullway gunmetal standard pattern best quality of approved brand bearing I.S.I. marking with fittings (tested to 21 kg per sq. cm.). (vi) 32 mm dia	16	each	1499.28	23988.48	INR Twenty Three Thousand Nine Hundred & Eighty Eight and Paise Forty Eight Only
	8	Supplying, fitting and fixing Peet's valve fullway gunmetal standard pattern best quality of approved brand bearing I.S.I. marking with fittings (tested to 21 kg per sq. cm.). (v) 25 mm dia	1	each	1086.92	1086.92	INR One Thousand &Eighty Six and Paise Ninety Two Only
	9		28			18019.96	INR Eighteen Thousand &Nineteen and Paise Ninety Six Only
		Supplying, fitting and fixing G.I. pipes of TATA make with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbo, nipple, longscrew, reducing socket, reducing tee, short piece etc. fitted with holder bats clamps, including cutting pipes, making threads, fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any position above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate payment will be made for accesories, specials. Payment for painting will be made seperately) (A) For Exposed Work (f) (ii) 50 mm dia. medium quality		mtr	643.57		
	10	Supply of UPVC pipes (B Type) & fittings conforming to IS-13592-1992 (A) (i) Single Socketed 3 Meter Length (b) 110 mm	78.2	mtr	348.01	27214.38	INR Twenty Seven Thousand Two Hundred & Fourteen and Paise Thirty

Younes Mondul

11	Labour for fitting and fixing U.P.V.C. pipes for above ground work including cost of jointing materials etc. fitting and fixing all necessary specials, cutting pipes, cutting holes in walls or R.C. floor where necessary and mending good all damages excluding the cost of masonry or concrete work, if necessary, but including the cost and fitting and fixing holder bat clamps (any floor) or for underground work including cutting trenches upto 1.5 metre and refilling the same complete as per direction of the Engineerin-charge. (Payment will be	78.2	mtr	67.93	5312.13	INR Five Thousand Three Hundred & Twelve and Paise Thirteen Only
	made on centre line measurement of the total pipeline including specials. (A) Above ground .(ii) 110 mm dia.					
12	Supplying, fitting and fixing bib cock or stop cock ((d) (i) Chromium plated angular Stop Cock with wall flange (Equivalent to Code No. 5053 & Model - Florentine of Jaquar or similar brand).	46	each	971.32	44680.72	INR Forty Four Thousand Six Hundred & Eighty and Paise Seventy Two Only
13	Supplying, fitting and fixing pillar cock of approved make. c) CP Pillar Cock - 15 mm. (Code No. 5011 & Model - FLORENTINE of JAQUAR or equivalent).	10	each	1021.37	10213.70	INR Ten Thousand Two Hundred & Thirteen and Paise Seventy Only
14	Supplying, fitting and fixing pillar cock of approved make . f) (ii) CP 2-way bib Cock - 15 mm, supplied, fitted and fixed. (Code No.5041 & Model - FLORENTINE of JAQUAR or similar brand).	20	each	1512.39	30247.80	INR Thirty Thousand Two Hundred & Forty Seven and Paise Eighty Only
15	Supplying, fitting and fixing porcelain partition wall of approved make of size 618 mm X 310 mm complete in all respect.	4	each	1349.12		INR Five Thousand Three Hundred & Ninety Six and Paise Forty Eight Only
16	Supplying, fitting and fixing Anglo-Indian W.C. in white glazed vitreous china ware of approved make complete in position with necessary bolts, nuts etc. (a) With 'P' trap (with vent)	11	each	3699.35	40692.85	INR Forty Thousand Six Hundred & Ninety Two and Paise Eighty Five Only

Journes Mondal

 \frown

17	Supplying, fitting and fixing Orissa pattern water closet in white glazed vitreous chinaware of approved make in position complete excluding 'P' or 'S' trap (excluding cost of concrete for fixing). (i) 580 mm X 440 mm	5	each	1922.37	9611.85	INR Nine Thousand Six Hundred & Eleven and Paise Eighty Five Only
18	Supplying, fitting and fixing 10 litre P.V.C. low-down cistern conforming to I.S. specification with P.V.C. fittings complete, C.I. brackets including two coats of painting to bracket etc.	16	each	1209.68	19354.88	INR Nineteen Thousand Three Hundred & Fifty Four and Paise Eighty Eight Only
19	Supplying, fitting and fixing Closet seat of approved make with lid and C.P. hinges, rubber buffer and brass screws complete. (ii) Plastic (hallow type) white	11	each	578.02	6358.22	INR Six Thousand Three Hundred & Fifty Eight and Paise Twenty Two Only
20	Supplying, fitting and fixing 32 mm dia. Flush Pipe of approved make with necessary fixing materials and clamps complete . ii) C. P. Flush Pipe	16	each	351.58	5625.28	INR Five Thousand Six Hundred & Twenty Five and Paise Twenty Eight Only
21	Supplying, fitting and fixing approved brand P.V.C. CONNECTOR white flexible, with both ends coupling with heavy brass C.P. nut, 15 mm dia (iii) 600 mm long	16	each	127.52	2040.32	INR Two Thousand &Forty and Paise Thirty Two Only
22	Supplying, fitting and fixing shower of approved brand and make.(d) Chromium plated Hand shower with Flexible Tube & fittings(Equivalent to Code No. Hsh-1937 & (Equivalent to Code No. 5037 & Model - Florentine of Jaquar or similar).).	10	each	2848.40	28484.00	INR Twenty Eight Thousand Four Hundred & Eighty Four Only
23	Supply of galvanised iron socket with I.S.I. mark (iv) 32 mm	14	each	53.63	750.82	INR Seven Hundred & Fifty and Paise Eighty Two Only
24	Supply of G.I. plain equal elbow of approved brand and make.(iv) 32 mm	14	each	78.66	1101.24	INR One Thousand One Hundred & One and Paise Twenty

Journes Mondal D

					1 2 m	
25	Supply of G.I. reducing socket with I.S.I. mark	14	each	59.59	834.26	INR Eight Hundred & Thirty Four and
26	Supply of G.I. short piece of TATA make (Above 50mm & upto150 mm long)	14	each	90.58	1268.12	INR One Thousand Two Hundred & Sixty
27	Supply of G.I. plain tee of approved brand and make	14	each	103.69	1451.66	INR One Thousand Four Hundred & Fifty One and Paise Sixty
28	Supply of G.I. union.	14	each	166.85	2335.90	INR Two Thousand Three Hundred &
29	Supply of G.I. nipple standard 32 mm long	14	each	77.47	mile.	INR One Thousand &Eighty Four and
30	Supply of long screw (150 mm long) of TATA make with sockets (TATA make) and jamnut.(iv) 32 mm	14	each	88.19	1234.66	INR One Thousand Two Hundred & Thirty Four, and
31	Labour for fitting and fixing G.I. specials including cost of jointing materials .(b) Socket, Reducing socket, Bend, Plain equal elbow, Reducing elbow, Nipple, Short piece. (ii) Above 25 mm upto 50 mm dia.	70	each	11.92	834.40	INR Eight Hundred & Thirty Four and Paise Forty Only
32	(c) Plain tee, Reducing tee, Pendent tee, Jamnut, Socket and Nipple . (ii) Above 25 mm upto 50 mm dia	14	each	11.92	166.88	INR One Hundred & Sixty Six and Paise Eighty Eight Only
33	(d) Cross, Union, Long screw. (ii) Above 25 mm upto 50 mm dia.	28	each	11.92	333.76	INR Three Hundred & Thirty Three and Paise Seventy Six
34	Supply of UPVC pipes (B Type) & fittings conforming to IS-13592-1992 (ii) Double Socketed 3 Meter Length 110 mm dia	1	each	375.42	375.42	INR Three Hundred & Seventy Five and Paise Forty Two
35	Supply of UPVC pipes (B Type) & fittings conforming to IS-13592-1992 (B) Fittings xxi) 110 X 110 P Trap 75 ,,	30	each	334.90	10047.00	INR Ten Thousand &Forty Seven Only
36	Supply of UPVC pipes (B Type) & fittings conforming to IS-13592-1992 (B) Fittings xi) Door Bend (T.S.) (ii)110 mm	24	each	175.19	4204.56	INR Four Thousand Two Hundred & Four and Paise Fifty Six Only
37	Supply of UPVC pipes (B Type) & fittings conforming to IS-13592-1992 (B) Fittings (ii) Plain Tee (ii)110 mm	25	each	101.30	2532.50	INR Two Thousand Five Hundred & Thirty Two and Paise Fifty Only

Jacomes Mondal

38	Supply of UPVC pipes (B Type) & fittings conforming to IS-13592-1992 (B) Fittings (V) Plain Y (ii)110 mm	9	each	245.51	15413.4	Two Hundred & Nine and Paise Fifty Nine Only INR Fifteen Thousand Four
39	Supply of PVC pipes & fittings Schedule 80 (medium duty) conforming to ASTMD	27	each	570.87	44373.	Hundred & Thirteen and Paise Forty Nine Only
40	- 1785 and threaded to match with GI Pipes as per IS : 1239 (Part - I). (A) PVC Supplying, fitting and fixing PVC pipes of approved make of Schedule 80 (medium duty) conforming to ASTMD - 1785 and threaded to match with GI Pipes as per IS : 1239 (Part - I). with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbo, nipple, longscrew, reducing socket, reducing tee, short piece etc. fitted with holder bats clamps, including cutting pipes, making threads,fitting, fixing etc. complete in all respect including cost of all necessary fittings as required,jointing materials and two coats of painting with approved paint in any position above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate payment will be made for accesories, specials. Payment for painting will be made seperately) (a) For Exposed Work PVC Pipes (Dia) 50 mm	96.96	mtr	457.6	55	Thousand Three Hundred & Seventy Three and Paise Seventy Four Only 386.10 INR Three Hund
41		27	eac	h 1	4.30	5073.15 INR Five Thou
12	Dismantling and refixing shower rose after cleaning. Cleaning glazed tiles with acid	425.6	sq	m	11.92	Paise Eiffeen
3		21	ea	ich	23.83	R25 93 INR Eight H
4	Cleaning urinal with channel with acid Dismantlingurinal	21	e	ach	39.33	& Twenty F 875.91 INR Eight I & Seventy
				ach	41.71	and the second states of the

Jaunus Mondial

- 10			1 1		0504.00	
46	Renewing C.I. clamp for pipe including cutting hole in wall etc. and (ix) 100 mm	50	each	171.62	- 37	INR Eight Thousand Five Hundred & Eighty One Only
47	Supplying, fitting & fixing Aluminium domical grating . 100 mm	28	each	58.40	100 C	INR One Thousand Six Hundred & Thirty Five and Paise
48	Supplying, fitting and fixing approved brand 32 mm dia.P.V.C. waste pipe, with PVC coupling at one end fitted with necessary clamps. (iii) 900 mm long	49	each	89.39		INR Four Thousand Three Hundred & Eighty and Paise Eleven Only
49	Cutting out existing G.I.F.W. or U.F.W. or gas pipeline to required size . (ii) 25 mm to 32 mm	48	each	72.70		INR Three Thousand Four Hundred & Eighty
50	Cutting out existing G.I.F.W. or U.F.W. or gas pipeline to required size . (iii) 40 mm to 50 mm	48	each	104.88		INR Five Thousand &Thirty Four and Paise Twenty Four
otal in Fi	gures				410179.92	INR Four Lakh Ten Thousand One
Quoted Rate in Figures			Select		0.00	INR Zero Only
Quoted Rate in Words		INR Zero Only				

Journus Mondul